PHYS-101 Formula Sheet for Major Exam II

g=9.80 m/s"
r=r,+vt+%at’

v=v,tat

W = TF.¢ if T=Constant

=IF'0d§
A-B=ABcosd

w,

net

= AK = Yymvi = Yymv]
P= M: -P-”v

dt
Up =Lk,  Fe= -kx
U, = mgy
E=K+U

W, == AU
AE = AK + AU = -fd

p=mv

I =Ap =Fat = |Fd

T)’n + '15'2i = Pir + T
I (disk) =(1/2MR’

I.(sphere) = (2/5)MR’
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do do
=——; Q4 = —
dt dt

s =10 , V=T1

a,=ra; a, =ro’
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If o = constant,

0= W, +0t

0 =0, +at+l at
A

> =0, + 20(0-0,)

I=2miﬁ=jr2dm

I =1, +Mh’ B

cm

T=txP

IX X l?l =ABsin 0
p= W - 1o
For a solid rotating about a fixed axis,

Krot=é_1m2 ,  L,=1I
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For static equ111br1um,
sSF =0 ; It =0
F/A F/A F/A
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I,,(thin rod) = (1/12)ML'
Ibm(hoop) = MR?
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